Miehet

Lohko 1 Voitot Reidt Tulos
1|Chris Scolari 1,9 1+1=2 8+7=15 |Scolari - Jafs 6-4 Scolari - Andersson
Ville Hyvarinen 18,2 0+0=0 0+2=2 Scolari - Hyvdrinen 8-6
2 |Elias J&fs 4,8 0+1=1 1+8=9 Jafs - Hyvarinen 7-5
Lohko 2
Christoffer Osterberg 2,0 0+0=0 3+1=4 Osterberg - Andersson  [4-6
1|Robert Lindstrém 5,0 1+1=2 6+ Osterberg - Lindstrom |2 -3 Lindstrom - Jafs
2|Jonathan Andersson 3,7 1+0=1 7+ Lindstrom - Andersson [1-0
MS
Jouni Hiltunen 7,4 1+ 8+ Hiltunen - Heikkerd 1-0
Rainer Erikkson 8,4 1+ 8+ Hiltunen - Erikkson Eriksson - Hiltunen
Henry Heikker6 9,5 0+0=0 4+7=11 |Eriksson - Heikkero 4-2
MS70+
Lohko 1 Voitot Reidt Tulos Tulos
Veikko Kuvaaja 11,3 1+ 6+ Kuvaaja - Roine Roine - Osterberg 5-6
Jan Roine 37,8 0+0+ 2+1+ Kuvaaja - Riski Osterberg - Riski 1-0
Erkki Riski 22,7 140+ 7+5+ Kuvaaja - Osterberg 4-2
Christer Osterberg 19,2 1+1+0=2 |7+6+4=17 |Roine - Riski 5-7
Lohko 2
Esko Hallfors 13,4 1+1+ 7+8+ Hallfors - Hopea 3-2 Hopea - Kajander 4-5
Aki Hopea 23,4 0+0+ 4+3+ Hallfors - Ikonen - lkonen - Kajander 4-3
Pertti Ikonen 20,3 0+1+ 2+8+ Hallfors - Kajander
Lars Kajander 18,5 140+ 8+4 Hopea - Ikonen
Lohko 3
1]|Arvo Vatanen 14,8 1+1+1=3 |9+9+0=18 |Vatanen - Kuisma Luov. Kuisma - Kettunen 4-3
Matti Kuisma 23,2 0+1+0=1 |[8+7+0=15 |Vatanen - Herlin 5-3 Herlin - Kettunen 2-1
2 [Christer Herlin 19,9 1+1+0=2 [8+9+4=21 |Kuisma - Herlin 0-1
Ensio Kettunen 26,0 0+0+0=0 |6+3+1=10 |Vatanen - Kettunen 8-6
Lohko 4
1|Rabbe Thun 15,0 1+1+1=3 |7+7+9=23 |Thun - Nymark Nymark - Séderberg 3-4
Henrik Nymark 23,1 0+0+ 4+2+ Thun - Andersson 5-3 Andersson - Soderberg |5 - 3
Jan-Erik Andersson 19,4 1+0+ 8+3+ Nymark - Andersson
Johan Soéderberg 24,3 0+1+0=1 ([346+1=10 |Thun - Séderberg 8-7
NS
Lohko 1 Voitot Reidt Tulos Semifinaali I
2 [Riitta Karhi 15,7 0+1=1 4+8=12 |Karhi - Ikonen 3-2
Rauni lkonen 27,2 3+5=8 Karhi - Hyvérinen 3-4 Karlsson - Karhi |5 -3
1|Hertta Hyvarinen 26,4 1+1=2 8+7=15 [lkonen - Hyvdrinen 3-4
Finaali
Lohko 2 Karlsson - Kuisma
Eeva Riski 18,8 5+5=10 [Riski- Kuisma 0-1
2[Maarit Kuisma 27,1 1+0=1 6+4=10 |Riski - Karlsson 0-2 Hyvdrinen - Kuisma 6-7
1|Paivi Karlsson 20,4 1+1=2 8+7=15 [Kuisma - Karlsson 3-4




